Cananical Ensemble Cartinuel

Last time: M states of energy SEis make A copies so that Njarein Stete I, etc  $P_{i} = \frac{N_{i}}{A} = \frac{e^{-\beta \varepsilon_{i}}}{\frac{m}{2}e^{-\beta \varepsilon_{i}}}$ -3E;  $Q(T) = \sum_{m=1}^{m} e$ where

$$b/c$$
  $-\frac{\partial Q}{\partial R} = \sum_{i=1}^{m} \mathcal{E}_{i} e^{-i \mathcal{E}_{i}} = \langle \mathcal{E} \rangle \cdot Q$ 

Last, defined gibbs entryey as

 $S = -k_B \overline{Z} P_i \ln p_i$ 

which for cononical grave S=KBU+KINQ

dl = dq + dwKentuler = Tas - pdv and  $u(s,v) = du = \left(\frac{\partial u}{\partial s}\right) ds + \left(\frac{\partial u}{\partial v}\right) dv$ 

$$= T_{-} \left( \frac{\partial u}{\partial s} \right)_{v} = \left( \frac{\partial u}{\partial s} \right)_{v} \left( \frac{\partial u}{$$

$$\begin{cases} \frac{\partial S}{\partial p} \\ = k \begin{bmatrix} 1 & u + p \begin{pmatrix} \frac{\partial u}{\partial p} \end{pmatrix} \\ = k \begin{bmatrix} \frac{\partial u}{\partial p} \end{pmatrix} \\ = k \begin{bmatrix} \frac{\partial u}{\partial p} \end{pmatrix} \\ \\ So & T = \begin{pmatrix} e p \\ \frac{\partial p}{\partial p} \end{pmatrix} \\ \\ \\ \frac{1 + s get nid of p s foon prev formulas}{U = -\frac{\partial \ln Q}{\partial p}} \\ \\ \frac{\partial F}{\partial T} = -\frac{\partial \ln Q}{\partial T} \\ \\ \frac{\partial F}{\partial T} = -\frac{1}{k_{B}T^{2}} \\ \\ \\ So & U = k_{B}T^{2} \frac{\partial \ln Q}{\partial T} \\ \\ \\ \frac{\partial F}{\partial T} \\ \\ \\ \end{array}$$

S=KBU+KInQ  $\Rightarrow$  S=  $\stackrel{u}{=}$  + k ln Q Remember, defined A = U - TSwhere U(S, V) => A(T, V)helmholz free energy is themo potential thet is minimized for chemical reactions / processes Cronst U,T  $A = \mathcal{U} - T\left(\frac{\mathcal{U}}{T} + \frac{1}{2}\ln\theta\right)$ A = - kBT lnQ (sinibrto S=klaw)

One other quantity we didn't consider is Cu (but you did on the exam)  $C_{U} = \left(\frac{\partial U}{\partial T}\right)_{U} \ll \exp chy required$ to increase tup 1°  $= \left( \frac{\partial \beta}{\partial T} \right) \left( \frac{\partial u}{\partial \beta} \right)_{V} = -\frac{1}{k_{B}T} \left( \frac{\partial u}{\partial \beta} \right)_{V}$  $U = -\left(\frac{\partial \ln Q}{\partial \beta}\right) = -\frac{1}{Q}\frac{\partial Q}{\partial \beta}$  $\frac{\partial u}{\partial \beta} = \begin{bmatrix} -\frac{\partial}{\partial \beta} \begin{pmatrix} \frac{1}{2} \end{pmatrix} \frac{\partial Q}{\partial \beta} & -\frac{1}{2} & \frac{\partial^2 Q}{\partial \beta^2} \end{bmatrix}$  $= \left[ f \frac{1}{Q^2} \frac{\partial Q}{\partial \beta} \frac{\partial Q}{\partial \beta} - \frac{1}{Q} \frac{\partial^2 Q}{\partial \beta^2} \right]$ (872  $\frac{\partial Q}{\partial \beta} = \overline{Z} \mathcal{E} e^{-\beta \mathcal{E}_i} = \frac{\partial Q}{\partial \beta} \left[ \frac{\partial Q}{\partial \beta} \right] = \frac{\partial}{\partial \beta} \overline{Z} \mathcal{E}_i^2 e^{-\beta \mathcal{E}_i}$ 

so 
$$\frac{\partial u}{\partial \beta} = \langle E \rangle^2 - \langle E^2 \rangle$$
  
=-Var(u)  
and  $\frac{\partial u}{\partial t} = +\frac{1}{k_B T^2} Var(u) = C_{v}$ 





